CLASS : 12th (Sr. Secondary) Code No. 5611
Series : SS-April/2021
Roll No. SET : A

A
ECONOMICS
AT -1
PART -1
(TS )

(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfaoh A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 80 (AF-1 : 40, AFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-o & AF & Rl ® : AL (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IO YR § @ 31 990 N OAFL AT B W Ued SR-gRas
I GRS 0  C R  L  C 2 2 R  G
BN % geT qd qdemel St -1 5 99-0 R smem

-1 % 997-99 & F 13 U @ 9FHI & T9-T 7 FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o P G F T B AL F 59 99799 § GRa g 7 o 797 13 8

Please make sure that the printed pages in this question paper of Part-I are 7 in
number and it contains 13 questions.

5611/(Set : A)/ | P.T.O.




(2) 5611/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(i) T FeT ST &
(i) HEF FIT & 7% IGH QT 9T TT &

(iii) 597 G 1 @ 5 T% SH7-TgaITs 597 & 78 qe8% §97 2 Sf# # 81 JA% F
FIY T 30 =] G % TEl ET Mo

(iv) 997 GE 6 & 10 7% TgAUAE J97 & [r7d J9% 997 3 ol & 81 J9% % Fa¥
AT 60 9] @ 3 TE] &I e

5611/(Set : A)/ |



(3) 5611/(Set : A)
(v) 97 & 11 & 13 7% 5 Fovws 597 & o8 9% 797 5 S/# F 81 J9% &
FTY FET: 130 =] @ 9% TE & eyl

i) T FF FaEE FeA 4 ori® 82 YTy 81 94 g9 § @ ofvE B 0% & 797
T 81

(vii) T=-FHAT G, FAEEE T G T T T A TE 8

General Instructions :

() All questions are compulsory.
(i) Marks of each question are indicated against it.

(iii) Question Nos. 1 to S are very short answer type questions carrying 2 marks
each. Answer to these should normally not exceed 30 words each.

(iv) Question Nos. 6 to 10 are short answer type questions carrying 3 marks
each. Answer to these should normally not exceed 60 words each.

(v) Question Nos. 11 to 13 are long answer type questions carrying S marks
each. Answer to these should normally not exceed 130 words each.

(vi) Internal choice is available in all long answer type questions. You have to
attempt only one of the given choice.

(vii) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
gue — A
SECTION - A
[ SHi-TgRIeT® 999 |
[ Very Short Answer Type Questions ]
1. FESe & Ao Hearr g gRem &R 2

State the material welfare definition of Economics ?

5611/(Set : A)/ | P.T.O.



N

. BH % G B 9d A B 7

(4)

What are the equilibrium conditions of the firm ?

3. SR T & & I i)

Give two examples of Transfer Payment.

4, yRIfE 85 9 T Il B 7

What do you mean by Primary Sector ?

5. WG S & el & s HE & A9 S5

State any two primary functions of Commercial Banks.

[ Short Answer Type Questions ]

g - §

SECTION - B

[ T 99 |

5611/(Set : A)

6. Ru T ifHst & Terdr & FA R AN T oMo URERHeid AN S HiTT

A

S (SR | O

1

2

3

4

5

6

%A A (Bo) | 40

80

110

126

128

135

180

Calculate Total Fixed Cost and Average Variable Cost with the help of given

data :
Production (Units) 0 1 2 3 4 5 6
Total Cost (Rs.) 40 80 110 126 128 135 180

5611/(Set : A)/ |




(5) 5611/(Set : A)
7. ‘THET FN QT AR § #E #7 SRR SR 3
State any three differences between 'Monopoly' and 'Perfect Competition'.

8. ‘HeEdl gRYA TN ‘AlH aggell’ § =) TaEu 3

Differentiate between 'Intermediate Goods' and 'Final Goods'.

9. HEg % B Pz A7 HI T 3

State any three functions of Central Bank.

10. ‘PN AV TFAT @UR ¥ F =R B 3
Differentiate between 'Balance of Payments' and 'Balance of Trade'.
qig - 9
SECTION-C

[ € ITH 97 |
[ Long Answer Type Questions ]

11. 17 & HWd A" H A S ST fafy @ e S 5
Explain the proportionate method of measuring price elasticity of demand.
HAYAT

OR

T SUART T & H 50 THEAT 4 T URY THE WU 51 G 39 I B HAA 25%
R St 2, o 38l A1 100 %18 81 S 81 A6 @ B @ s B

A consumer buys 50 units of a good at Rs. 4 per unit. When its price falls by

25%, its demand rises to 100 units. Find out the price elasticity of demand.

5611/(Set : A)/ | P.T.O.



(6) 5611/(Set : A)

12. g SREIAET 3 Sieuerei Refd § &H & dwger @l A [ 8T e #]X 5
Discuss short-run equilibrium of the firm in perfect competition by marginal
approach.

HAYAT
OR

@i & geEd ¥ Ufd & Mo @ ey | e w1
Explain in brief, the 'Law of Supply' with the help of a diagram.

13. T A F AU B @I @R B R B 5

Explain the 'Expenditure Method' of measuring National Income.

YT
OR
e TRt &l TR | SN HiFd W ‘Y& TS IAE &1 &

e %o #HUg §

(@) | sl & § e ad WS T g 60,000
() | facdiie & F e qFd W IS 9 IR 40,000
(i) | i & 7 e W g I IR 30,000

(iv) | & TIEE HX 20,000
(v) | foRel | O S wE o () 5,000
(vi) | Rer ol SusrT Sreran e 10,000

5611/(Set : A)/ |



(7)

5611/(Set : A)

Calculate Net National Product at market price with the help of the following

data :

Items

Rs. Crores

(iii)

(i)
v)

(vi)

Net value added at factor cost

primary sector

Net value added at factor cost

secondary sector

Net value added at factor cost

tertiary sector

Net indirect tax

Net factor income from abroad

Consumption of fixed

depreciation

capital

or

60,000

40,000

30,000
20,000

() 5,000

10,000

5611/(Set : A)/ |



CLASS : 12th (Sr. Secondary) Code No. 5611
Series : SS-April/2021

Roll No. SET : A
ST
ECONOMICS
AT - 11
PART - II

(aEgFrs a%)

(Objective Questions)
ACADEMIC/OPEN
[ = ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT G % FT FIT-0H § JRT §T 8 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT Y A [ F9797 [U T 7el 8, YT F YU 39
T 7 g o qrar w&hH T8 BAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.

5611/(Set : A)/ I P.T.O.



(2) 5611/(Set : A)
(i) 97 #E 1 7 40 TF FegITe (JgREAT RFT @7 3 gt/ 7e1-TAq) Fo7 81 T9%
JoT 1 5% T &1 @8 FTY ST FAv-GreawT 7 [

Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-
false) type questions. Each question is of 1 mark. Write correct answer in
your answer-book.

=il Sglamedid g9 % @8l [y giad -
Choose the correct alternatives of the following multiple choice type questions :

1. Fr=ifafad & | HF-91 afte sTdame &l o7eqgT © ¢ 1
(A) T o (B) & HT
(C) SUR =k (D) W & s
Which of the following is a study of microeconomics ?
(A) National income (B) Aggregate demand
(C) Trade cycle (D) Law of demand

2. et agg @ Rafq & A6 a6 B oA B © ¢ 1
(A) &I (B) FUIHD
(C) OX-3T8 & THMFIX (D) OY-31& % HHMMNK
In case of 'Giffen' goods, the slope of demand curve is :
(A) Positive (B) Negative
(C) Parallel to OX-axis (D) Parallel to OY-axis

3. ‘T H RERERT Fhadl aEad & 5 7 1
A) TP erefemawen @ (B) orfeaee WX G I @
(C) o Sreferaea &l (D) ST gt
The Keynesian school of thought advocates :
(A) Mixed economy (B) Government control on economy
(C) Free economy (D) All of these

4. IR EWRT SUEN SERT (MPC) = 1 8, @ of6 (K) BFT : 1
(A) A (B) T
(C) & (D) =
If MPC =1, then multiplier (K) will be :
(A) Zero (B) One
(C) Two (D) Infinity

5611/(Set : A)/ Il



(3) 5611/(Set : A)

5. WRAE Re@ S @ e &y ag J g ? 1
(A) 1905 %o ¥ (B) 1920 g0 #
(C) 1935%0 # (D) 1995 8o #

In which year, the Reserve Bank of India established ?

(A) 1905 AD (B) 1920 AD
(C) 1935 AD (D) 1995 AD

6. T Y HIT-°1 FIH FX & 7 1
(A) € g (B) femhl &Y
(C) SR b (D) ST &

Which of the following is direct tax ?

(A) Custom duty (B) Sales tax
(C) Excise duty (D) Income tax
7. @& HHIBT g 1
) TR= 28 B) AR= MR
Q Q
(C) MR-= 2O (D) AR=TRxQ

Choose the correct equation :

) TR= 2R B) AR= MR
Q Q
_ ATR _
© MR- SO (D) AR=TRx Q

5611/(Set : A)/ I P.T.O.



(4) 5611/(Set : A)

8. MC T, AC I% &l 3 Rafq & Fledr &, 94 : 1
(A) AC % - F X FR @I A 2
(B) AC @ HW &l X I8 @I Bl &l
(C) AC &F FFa¥ 2 Bl
(D) & @ &g T
MC curve cuts AC curve, when :
(A) AC curve is falling.
(B) AC curve is rising.
(C) AC curve is minimum.
(D) None of these

9. U SiEAIfn § ®H & Agad @ Rl A B, 5 1
(A) MC =TR (B) MC = MR
(C) MC=TC (D) AC = AR

Under perfect competition the firm is in equilibrium, when :

(A) MC=TR (B) MC = MR
(C) MC=TC (D) AC = AR
10. Fr=fcifad @ & el TOFT B que -6l F a8 ? 1
(A) oM fafyr 4 (B) =9 fafy #
(C) I fafy (D) IUUE gt
Which of the following method deals with the problem of double counting ?
(A) Income Method (B) Expenditure Method
(C) Product Method (D) All of the above

5611/(Set : A)/ Il



(5) 5611/(Set : A)

11. Frfafad 9 @ S9-d8 Rw o 8 2 1
(A) SHER T (B) ekt &Y
(C) SR AR Fic (D) ST
Which of the following is a non-tax receipt ?

(A) Gift tax (B) Sales tax
(C) Gifts and Grants (D) All of the above

12. A Fa SHeT Bl © 1
(A) e (B) &g
(C) oTgHd (D) T & 1B T
Balance of payments is always :

(A) Unfavourable (B) Balanced

(C) Favourable (D) None of these
g 1=l & Rea e 97 -
Fill in the blanks with appropriate words :

13. S TF oo fosm B (i, aredas) 1
Economicsis a ....cccovevvennnnen.. science. (social, natural)

14. YAl a6 9o f4g & SR . B B (G701, ) 1
An indifference curve is ........... to the point of origin. (convex, concave)

15. |7 9 & "eA fog WX AN B BT A et (5%7 3% @ o) 1
Price elasticity of demand at the mid point of a straight line demand curve will
be ............. . (unitary, more than unitary)

16. M & T®BA TH .o, RO 2 (STeqr, drdesri) 1
Returns to a scaleis a .............. concept. (short-run, long-run)

5611/(Set : A)/ I P.T.O.



17.

18.

19.

20.

21.

22.

23.

(6) 5611/(Set : A)

AT AT T oo 2K B (7 e @y, U-srr) 1
Average cost curve is .......... (a straight line, U-shaped)
AT T UlT IS SR Bl oo B B (#73, @) 1
Average revenue is ................ per unit of output. (price, cost)
AT ATH & ST | e, | (TR = TC, TR > TC) 1
In a situation of normal profits ............. . (TR =TC, TR > TC)
.................... P It SRR Bk Bl (3, F9eT) 1
Supply of ............... is inelastic. (milk, cloth)
BT FRNT IEIR % STae § 9 o (TR, ot i) 1
Price discrimination is possible under ................ market.

(monopoly, perfect competition)

fIsT AEMl H AW ..o o (1929, 1942) 1

Year of world's great depression was ............. . (1929, 1942)

TR HAT T A B, 398 (GDP) = TR A W & R IS4G + ... |

(STY X, HEEe 29) 1

GDP at market price = NDP at market price + ............. .

(Indirect taxes, Depreciation)

5611/(Set : A)/ Il



24.

25.

26.

27.

28.

(7) 5611/(Set : A)
................ ST # gl & o7 asjell # AFvE AW B (@G AR GRE)

In ..o, system goods are exchanged for goods.

(barter system, monetary)

IRT H TH BT B AT oo, ) S R S 2
(Rt S, S TRa) 1

One rupee note in India is issued by ................ .

(Reserve Bank, Central Government)

S AS > AD &, 09 odermen § agjell oR fawht & ufd @ wgrr I A

................ Gl (aferm, ®m) 1

When AS > AD, then supply of goods and services in the economy tends to be

................ , than their demand. (more, less)

................ U SATE H FH e 2 (STER &, 1 ) 1

................ is an example of indirect tax. (Gift tax, Excise duty)

S Frafd @ g T & g7 § A Al B, 99 &R qGE BT
(73, o) 1

When value of exports is more than value of imports, the balance of trade will

be ...oooeiiinl. . (favourable, unfavourable)

ey o @8t & ar T, JasT

State whether the following statements are true or false :

29.

30.

qfi, € & st 3 Fdl 2 1
Supply can exceed stock.
qeedl % X IYAINCT 9 &l 8l 1

Utility remains same on an indifference curve.

5611/(Set : A)/ I P.T.O.



31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

(8) 5611/(Set : A)
TEN T TR & AW AR G F SFIANR AT Bl 1

Government budget is an estimated statement of revenue and expenditure of
the government.

1

NEEIET = . 1
S 1-MPS
Value of multiplier = .
1-MPS
gEae U9F, TS o § e i R 1
Old age pension is included in national income.
MR Y T A 99 F SRR &0 S ol 1
There is difference between Balance of Trade and Balance of Payments.
d% & 98 & B SN % FER B RO a4 W Ad & 1

Bank rate is that rate which is charged by the banks when giving loans to the
government.

e Srdame T FART ST | HE e 7@ o 1
There is no relationship between Microeconomics and Macroeconomics.

IoTC @1 & §F IR @ A FRd o 1
Budget line is also known as iso-product line.

ged Afea & | P TR AF] 787 oKl sl 1
Law of diminishing returns is not applicable on agriculture.

THIREHR & T o1 S SR A 8 S ol 1

The difference between Firm and Industry disappears in monopoly.

AT FU Th I FY B 1

'Service tax' is an indirect tax.

5611/(Set : A)/ Il



CLASS : 12th (Sr. Secondary) Code No. 5611
Series : SS-April/2021
Roll No. SET : B

A
ECONOMICS
AT -1
PART -1
(TS )

(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfaoh A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 80 (AF-1 : 40, AFHII : 40)
Time allowed : 21 hours] [ Maximum Marks : 80 (Part-I : 40, Part-II : 40)

ge-o & AF & Rl ® : AL (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IO YR § @ 31 990 N OAFL AT B W Ued SR-gRas
I GRS 0  C R  L  C 2 2 R  G
BN % geT qd qdemel St -1 5 99-0 R smem

-1 % 997-99 & F 13 U @ 9FHI & T9-T 7 FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o P G F T B AL F 59 99799 § GRa g 7 o 797 13 8

Please make sure that the printed pages in this question paper of Part-I are 7 in
number and it contains 13 questions.

5611/(Set : B)/ | P.T.O.




(2) 5611/(Set : B)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(i) T FeT ST &
(i) HEF FIT & 7% IGH QT 9T TT &

(iii) 597 G 1 @ 5 T% SH7-TgaITs 597 & 78 qe8% §97 2 Sf# # 81 JA% F
FIY T 30 =] G % TEl ET Mo

(iv) 997 GE 6 & 10 7% TgAUAE J97 & [r7d J9% 997 3 ol & 81 J9% % Fa¥
AT 60 9] @ 3 TE] &I e

5611/(Set : B)/ |



(3) 5611/(Set : B)
(v) 97 & 11 & 13 7% 5 Fovws 597 & o8 9% 797 5 S/# F 81 J9% &
FTY FET: 130 =] @ 9% TE & eyl

i) T FF FaEE FeA 4 ori® 82 YTy 81 94 g9 § @ ofvE B 0% & 797
T 81

(vii) T=-FHAT G, FAEEE T G T T T A TE 8

General Instructions :

() All questions are compulsory.
(i) Marks of each question are indicated against it.

(iii) Question Nos. 1 to S are very short answer type questions carrying 2 marks
each. Answer to these should normally not exceed 30 words each.

(iv) Question Nos. 6 to 10 are short answer type questions carrying 3 marks
each. Answer to these should normally not exceed 60 words each.

(v) Question Nos. 11 to 13 are long answer type questions carrying S marks
each. Answer to these should normally not exceed 130 words each.

(vi) Internal choice is available in all long answer type questions. You have to
attempt only one of the given choice.

(vii) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
gue — A
SECTION-A
[ SHi-TgRIeT® 999 |
[ Very Short Answer Type Questions ]
1. BEMRT AE & & Iae | 2

Give two examples of Transfer Payment.

5611/(Set : B)/ | P.T.O.



(4) 5611/(Set : B)

2. UfHE & | F AR © ? 2
What do you mean by Primary Sector ?

3. FURE d6f & el g wafes @A & 9 SaE 2

State any two primary functions of Commercial Banks.

4, e FH Afds Heawr gl g 2

State the material welfare definition of Economics ?

5. ®H & AT Hl S bl § 7 2
What are the equilibrium conditions of the firm ?
g - §
SECTION - B

[ T 99 |

[ Short Answer Type Questions ]

6. ‘Hegddl aEgl U1 ‘HAfH qEJSA § FR SR 3

Differentiate between 'Intermediate Goods' and 'Final Goods'.

7. 59 9% B P37 FI B 3

State any three functions of Central Bank.

8. ‘YA AT TN ‘ANUR IV H =R BT 3

Differentiate between 'Balance of Payments' and 'Balance of Trade'.

9. RU T afwet F Herar & Fa Rer awd qon ofvwa uRadwsha @ a1 i - 3

S (=) | 0 | 1 2 3 4 5 6
%A A (Fo) | 40 | 80 | 110 | 126 | 128 | 135 | 180

5611/(Set : B)/ |



(5) 5611/(Set : B)

Calculate Total Fixed Cost and Average Variable Cost with the help of given

data :
Production (Units) 0 1 2 3 4 5 6
Total Cost (Rs.) 40 80 110 126 128 135 180
10. ‘THIEHT T4 QO Sferifer | &3 7 =) TaqEu 3

State any three differences between 'Monopoly' and 'Perfect Competition'.

gug - 9
SECTION-C
[ € ITH 97 |
[ Long Answer Type Questions ]

11. g SREIAET d Sreuerei Refe § ®H & dwger &l A [ 81 e &)X 5
Discuss short-run equilibrium of the firm in perfect competition by marginal
approach.

HAYAT
OR

G & gerEd @ Yfd & MEw @ ey | e w1

Explain in brief, the 'Law of Supply' with the help of a diagram.

12. T A F A0 B @F QR B R B 5

Explain the 'Expenditure Method' of measuring National Income.

5611/(Set : B)/ | P.T.O.



(6)
e

OR

5611/(Set : B)

Fr=Ticiie STepsi @l Wera @ IoiX iHd W ‘Y5 T A S B

i o g 4
() | sl & § e d WIS T g 60,000
(i) | faciEs &= 5 e ar W g T 3 40,000
(i) | FeitEes & F e A W S I IR 30,000
(iv) | & TIEE HX 20,000
(v) fqRel & o< gE wET A (-) 5,000
(vi) | Rer ol SusrT Sreran formEe 10,000

Calculate Net National Product at market price with the help of the following

data :

Items

Rs. Crores

@)

(i)
(ii)

(iv)
v)

(vi)

Net value added at factor cost

primary sector

Net value added at factor cost

secondary sector

Net value added at factor cost

tertiary sector
Net indirect tax

Net factor income from abroad

Consumption of fixed
depreciation

capital

or

60,000

40,000
30,000

20,000
() 5,000

10,000

5611/(Set : B)/ |



(7) 5611/(Set : B)

13. O P B A H A B SAAD [ty P A S 5
Explain the proportionate method of measuring price elasticity of demand.
AYAT
OR

T SUHHRT T a6 H 50 THEAN 4 T T TR WIS 51 O 39 9% B HAA 25%
R S &, o g9l |17 100 39 & SR &1 AT & Hed A S Bl

A consumer buys 50 units of a good at Rs. 4 per unit. When its price falls by

25%, its demand rises to 100 units. Find out the price elasticity of demand.

5611/(Set : B)/ |



CLASS : 12th (Sr. Secondary) Code No. 5611
Series : SS-April/2021

Roll No. SET : B
ST
ECONOMICS
AT - 11
PART - II

(aEgFrs a%)

(Objective Questions)
ACADEMIC/OPEN
[ = ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT G % FT FIT-0H § JRT §T 8 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT Y A [ F9797 [U T 7el 8, YT F YU 39
T 7 g o qrar w&hH T8 BAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.

5611/(Set : B)/ I P.T.O.



(2) 5611/(Set : B)
(i) 97 #E 1 7 40 TF FegITe (JgREAT RFT @7 3 gt/ 7e1-TAq) Fo7 81 T9%
JoT 1 5% T &1 @8 FTY ST FAv-GreawT 7 [

Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-
false) type questions. Each question is of 1 mark. Write correct answer in
your answer-book.

=il Sglamedid g9 % @8l [y giad -

Choose the correct alternatives of the following multiple choice type questions :

1. ‘ordsme & f4srd’ (Principles of Economics) % @@ ? : 1
(A) e (B) Het
(C) weH Rag (D) SgareEH
Writer of 'Principles of Economics' is :
(A) Malthus (B) Marshall
(C) Adam Smith (D) Samuelson
2. A fHET a0 99 ;&8 7 1
(A) T e (B) HHfte oredsme
(C) uEss fod (D) FHHd FE=
The Price Theory is known as :
(A) Microeconomics (B) Macroeconomics
(C) Public Finance (D) Price control
3. AT &1 foET @ e @ 1
(A) HEE gEH | (B) R aegeti ©
(C) HirsaT o a&feli W (D) 39 a9 a&gali W
The law of demand applies to :
(A) Normal goods (B) Giffen goods
(C) Articles of distinction (D) All of the above
4. T % G F AW, ST A G V-9 H FAARR SN 1
(A) TR B) T
(C) 3HE q A (D) 3HE 9 A

5611/(Set : B)/ Il
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When demand curve is parallel to OY-axis, then price elasticity of demand is :

(A) Unity (B) Zero
(C) Less than unity (D) More than unity
5. 99 JEd IR ol 8, a9 HENT IR 1
(A) ol IARA % I BT 8 (B) oNed IqmeT ¥ iy &ar ®
(C) NEd 3T q HH B ° (D) I B @
When average production increases, marginal product is :
(A) equal to average production (B) more than average production
(C) less than average production (D) zero
6. 9 UH SRt a%g H B B 8, a9 36 9 ¢ 1
(A) g gReds T aa (B) wedt &
(C) el & (D) T & FE T
When the price of competitive good falls, its supply :
(A) does not change (B) falls
(C) increases (D) none of these
7. Frfaiea Rafod! & feed MR FoToT® & @l © 7 1
(A) 9 AR 9% W& & (B) W9 AR T W@ &
(C) 99 AR feR & (D) S a4 Refeat d
Under which of the following conditions MR can be negative ?
(A) When AR is increasing (B) When AR is decreasing
(C) When AR is constant (D) In all the above conditions
8. fawa wem=l % a¥ 2 : 1
(A) 1927 (B) 1929
(C) 1931 (D) 1936
The year of World's Great Depression is :
(A) 1927 (B) 1929
(C) 1931 (D) 1936
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9. TEIR HIFT AR AET AT S TROM & HA & ST BNl © 1

(A) Y& BT (B) STHUEE DX
(C) o Tera (D) & I H
The basic difference between the concepts of market price and factor cost is:
(A) direct taxes (B) indirect taxes
(C) subsidiaries (D) net indirect taxes

10. UF RS % 98 9% & : 1
(A) N <TEpToie RO AT © (B) N @ & fmior &ear ®
(C) ST STEUhRI ROT T 8 (D) ST
A commercial bank is bank that :
(A) gives long term loans (B) creates credit
(C) gives short term loans (D) All of the above

11. Syl ISR S i oraen | ¢ 1
(A) FaT HAT Tod o

(B) axgalt oix Fawslt & wae ¥ A o gfs 78 &b B

(C) T AFT MEALTF oI MK & 3 B @

(D) IYHT Gl

In a situation of over full employment equilibrium :
(A) prices alone rise

(B) there is no increase in flow of goods and services

(C) aggregate demand is more than necessary full employment

(D) All of the above

12. IR MPC =1 ¥, @ o1& & : 1
(a) I (B)
(C) & (D) 3
If MPC = 1, then multiplier will be :
(A) Zero (B) One
(C) Two (D) Infinity

5611/(Set : B)/ Il
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13. FIfeid &G H R 8
(A) TN & FHE faaXer (B) &0 ¥ &
(C) BI+HR® STAN W Hfa=e (D) ETH ¥ Hig 7ol
The objective of progressive taxation is :
(A) equitable distribution of sacrifice
(B) addition to taxes
(C) restriction on harmful consumption

(D) none of these

14. friafad & @ s R aqed (W) § ot 787 e S ?
(A)  FereT F ARE-FET
(B) &l a9 & Hed AN SR AT & A
(C) dwal s e T =
(D) IYAHT Gl
Which of the following is not included in balance of trade ?
(A) Import-export of services
(B) Payment of interest and dividend among all countries
(C) Expenditure by tourists
(D) All of the above

ST =T @ RFT & ¢ -

Fill in the blanks with appropriate words :

15. % U5 @ BT 96 ¢ A R H AT H Rt (dgam, fRm@e) 1
If the price of petrol goes up demand of cars will be ............. . (contract, fall)
16. IR Hmd § ufad eF § Fa &d § P G A1 &, @ AT o, SIS
&t ¥ (57, ¥ & F) 1
Elasticity of demand is .............. if change in price does not result in any
change in total expenditure. (unitary, less than unitary)

B)

1
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17.

18.

19.

20.

21.

22.

23.

24.

(6) 5611/(Set : B)
T AP SR IREH A & A .. T TR T ST 1 (STe, Sred) 1

Difference between fixed cost and variable cost is found in ............... .

(short-period, long period)

BT I ¥ g 3 (TR, qot SfcEifa) 1

Price discrimination is possible under ................ .

(monopoly, perfect competition)

................ % TR e STIATE & IR (ST, ®H @ FEd ®R) 1

Problem of ............... is the example of macroeconomic studies.

(unemployment, price level of the firm)

By T F N B R e, TR & gF B TEN H A B 1
(v, wezrerii)
To avoid double counting, value of ............... goods is taken into account.

(final, intermediary)

e Bl g R CRI] (cerer, goa) 1
Main characteristic of money is ................ . (liquidity, solidness)
ST BN HIAT ARG B B v P Bl (srrerfep, faciee) 1
Accepting deposits is the ............. function of commercial banks.

(primary, secondary)

AR & TREE] RS & TR oo T HH ST B 1
(T SR Fgger, T USTIR Hegfer™))
According to classical theory of employment ............. is a normal situation.

(less than full employment, full employment)

1 1
T B o = oo . ,
(I—MPC MPCJ
e 1 1
Value of multiplier = ................ . ( , ]
1- MPC " MPC
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25.

26.

(7) 5611/(Set : B)
G > F TR = oo, (sritery wo7e, =1 & So1) 1

Total expenditure > Total receipts = ................ .

(surplus budget, deficit budget)

AR TGAT H BAT v TS g (399, or5) 1

Balance of trade includes only .............. items. (visible, invisible)

=it weT @al & ar T, FEy -

State whether the following statements are true or false :

27.

28.

29.

30.

31.

32.

33.

RO T&] B B | gha A0 § gRe B BROT B o 1
Rise in price of substitute goods is the cause of increase in demand.

ST AN Olaar AeRR BN 8, O @ & T I S ol 1
Co-efficient of elasticity is zero, when demand is perfectly elastic.

AU H IqEsh N Bl TEl & Hebll| 1
A producer cannot suffer loss in short period.

Iof gfErt a9 § SR A a8 SR 2 1

Selling costs occur under perfectly competitive market.

e STe qeT gEite erfere H $iE grry TRl R 1

There is no relationship between micro-economics and macro-economics.

TS T & =d o Faw § e S 2 1

Disposable income is divided between savings and investment.

T, S T A & AN BT I=E ARy FHed & 1

Aggregate of rent, interest and profit is called operating surplus.

5611/(Set : B)/ I P.T.O.



34.

35.

36.

37.

38.

39.

40.

(8) 5611/(Set : B)
aTifer e it Wit TXHI I A I B 1

The objective of government budget is to achieve the state of economic

stability.

‘H T B A & 1
'Tax' is a legal payment.

AR T 09 AJEA Bl 8, S (i, A § e ekl 2 1

Balance of trade is favourable when exports exceed imports.

MIHT TH Tedel HT 2 1

Income tax is a direct tax.

T, FRY § BN A aRad & ey A § BN A gRad & S ol 1

The multiplier is the ratio of change in income due to change in investment.

HA T TAFA YR DI GHA B TR F A S T B 1

Unemployment is possible even when aggregate demand is equal to aggregate

supply.
IRd & =1 S, 9ag R9d 9@ 8 1

In India, the Central Bank is Reserve Bank of India.

5611/(Set : B)/ Il
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A
ECONOMICS
AT -1
PART -1
(TS )

(Subjective Questions)
ACADEMIC/OPEN

[ &= wd sfaoh A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 80 (AF-1 : 40, AFHII : 40)
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ge-o & AF & Rl ® : AL (STeiNS) wE AR-II (ﬁ's)mﬂwaﬁ%ﬁwﬁ%qﬁ
% X B AU IO YR § @ 31 990 N OAFL AT B W Ued SR-gRas
I GRS 0  C R  L  C 2 2 R  G
BN % geT qd qdemel St -1 5 99-0 R smem

-1 % 997-99 & F 13 U @ 9FHI & T9-T 7 FA 40 U9 2

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 13 and of Part-II are 40.

o P G F T B AL F 59 99799 § GRa g 7 o 797 13 8

Please make sure that the printed pages in this question paper of Part-I are 7 in
number and it contains 13 questions.
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(2) 5611/(Set : C)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(i) T FeT ST &
(i) HEF FIT & 7% IGH QT 9T TT &

(iii) 597 G 1 @ 5 T% SH7-TgaITs 597 & 78 qe8% §97 2 Sf# # 81 JA% F
FIY T 30 =] G % TEl ET Mo

(iv) 997 GE 6 & 10 7% TgAUAE J97 & [r7d J9% 997 3 ol & 81 J9% % Fa¥
AT 60 9] @ 3 TE] &I e
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(3) 5611/(Set : C)
(v) 97 & 11 & 13 7% 5 Fovws 597 & o8 9% 797 5 S/# F 81 J9% &
FTY FET: 130 =] @ 9% TE & eyl

i) T FF FaEE FeA 4 ori® 82 YTy 81 94 g9 § @ ofvE B 0% & 797
T 81

(vii) T=-FHAT G, FAEEE T G T T T A TE 8

General Instructions :

() All questions are compulsory.
(i) Marks of each question are indicated against it.

(iii) Question Nos. 1 to S are very short answer type questions carrying 2 marks
each. Answer to these should normally not exceed 30 words each.

(iv) Question Nos. 6 to 10 are short answer type questions carrying 3 marks
each. Answer to these should normally not exceed 60 words each.

(v) Question Nos. 11 to 13 are long answer type questions carrying S marks
each. Answer to these should normally not exceed 130 words each.

(vi) Internal choice is available in all long answer type questions. You have to
attempt only one of the given choice.

(vii) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
gue — A
SECTION - A
[ SHi-TgRIeT® 999 |
[ Very Short Answer Type Questions ]
1. AORE 6 & fhdl & i & & 99 SRy 2

State any two primary functions of Commercial Banks.

5611/(Set : C)/ | P.T.O.



(4) 5611/(Set : C)
2. e i Afcrs Hear TERE g iy 2

State the material welfare definition of Economics ?

3. ®H & Te B Ad HA-Al S ? 2

What are the equilibrium conditions of the firm ?

4, T T & & SV Qi 2

Give two examples of Transfer Payment.

5. uafe & @ F R § 7 2
What do you mean by Primary Sector ?
qig - §
SECTION - B
[ AU 9997 ]

[ Short Answer Type Questions ]

6. ‘FIOM AT T ‘ANUR I’ H A=< B 3

Differentiate between 'Balance of Payments' and 'Balance of Trade'.

7. U T ofiwet H qerar § A Rer ama o ofea aRtadHslia @ S i 3
SEA (3@Ean) | 0 | 1 | 2 3 4 5 6
%A @ (S0) | 40 | 80 | 110 | 126 | 128 | 135 | 180

Calculate Total Fixed Cost and Average Variable Cost with the help of given

data :
Production (Units) 0 1 2 3 4 S 6
Total Cost (Rs.) 40 80 110 126 128 135 180

5611/(Set : C)/ |
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8. ‘THIEEHT ToT Qo GRAFEr § #i3 &7 A=< AR 3

State any three differences between 'Monopoly' and 'Perfect Competition'.

9. ‘Heggdl aEgel’ T ‘HfH qEJN § FR TR 3

Differentiate between 'Intermediate Goods' and 'Final Goods'.

10. 9 3% B Fs 7 HE TABU 3

State any three functions of Central Bank.
gls - 9
SECTION-C
[ € STUeH 99 |
[ Long Answer Type Questions ]

11. T A H 901 B @F Q@R SR S 5

Explain the 'Expenditure Method' of measuring National Income.
AYAT
OR

e SRSt &l T | SN HiAd W ‘Y& TSE IAE §1d &

7 %o FUT 7

@) |l & § @ g © g8 0E 3 60,000
(i) | fadios & § @ arg W 98 0 3 40,000
(i) | e & F e A W g I I 30,000

(iv) | g= o & 20,000
(v) | foRel | O = e o () 5,000
(vi) | fReR TSt SusirT Srear frmEe 10,000
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Calculate Net National Product at market price with the help of the following

data :

Items

Rs. Crores

(iii)

(i)
v)

(vi)

Net value added at factor cost

primary sector

Net value added at factor cost

secondary sector

Net value added at factor cost

tertiary sector

Net indirect tax

Net factor income from abroad

Consumption of fixed

depreciation

capital

in

in

in

60,000

40,000

30,000
20,000

() 5,000

10,000

12. HOT % HAG A S A B SAAH [ty B e i

Explain the proportionate method of measuring price elasticity of demand.

3TeE
OR

T SUHRT T a6 H 50 THEAI 4 T T THE WIS 51 9 39 9% B HAA 25%
R SR &, o g9l |17 100 3% & SR &1 A5 & Hed A S B

A consumer buys 50 units of a good at Rs. 4 per unit. When its price falls by

25%, its demand rises to 100 units. Find out the price elasticity of demand.

5611/(Set : C)/ |
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13. g SREIAET # Sieuenrei Refd § ®H & dwger @l A [ 8RN e #]X 5
Discuss short-run equilibrium of the firm in perfect competition by marginal
approach.

HAYAT
OR

Q= gerEdr 8 U & Frem @ w8y § e &7
Explain in brief, the 'Law of Supply' with the help of a diagram.
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ECONOMICS
AT - 11
PART - II
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(Objective Questions)
ACADEMIC/OPEN
[ = ug ool e |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o PV AT BT G % FT FIT-0H § JRT §T 8 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT Y A [ F9797 [U T 7el 8, YT F YU 39
T 7 g o qrar w&hH T8 BAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
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(2) 5611/(Set : C)
(i) 97 #E 1 7 40 TF FegITe (JgREAT RFT @7 3 gt/ 7e1-TAq) Fo7 81 T9%
JoT 1 5% T &1 @8 FTY ST FAv-GreawT 7 [

Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-
false) type questions. Each question is of 1 mark. Write correct answer in
your answer-book.

i gty gedt @ ae T g -
Choose the correct alternatives of the following multiple choice type questions :
1. ESe & Ao Hearr g g feem & 2 ? 1
(A) TeH Ry (B) GrexEH
(C) sfo sk (D) & ¥/ #Hig T
Who has given the material welfare definition of economics ?
(A) Adam Smith (B) Peterson
(C) Dr. Marshall (D) None of these
2. I Hge B TG § B 8, 59 d8 U< HA © 1
(A) SAfERTH I (B) SAfERhaH Bl
(C) SR Fgite (D) FH & BK T
Consumer attains equilibrium when he gets :
(A) maximum income (B) maximum loss
(C) maximum satisfaction (D) none of these
3. W 9% & AW BNl © : 1
(A)  g-TcHD (B) = MH%
(C) OX-3Y & THMFK (D) OY-3 & FHMF

The slope of demand curve is :
(A) positive (B) negative
(C) parallel to OX-axis (D) parallel to OY-axis

5611/(Set : C)/ Il
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4. 9 HT 9% OX-318T & THMA B, o HET & o enf e 1
(A) TR (B) FHE q 3
(C) (D) o=

When the demand curve is parallel to OX-axis, then price elasticity of demand
is :

(A) Unity (B) More than unity
(C) Zero (D) Infinity
5. Frfafad § & HF-a1 %9 el © ? 1
(A) TP=APXL (B) AP:%
(©) (A) &R (B) A (D) & | & T
Which of the following is correct statement ?
(A) TP=APXxL (B) APz%
(C) Both (A) and (B) (D) None of these
6. 9 IUEA F &R LA 8, A FW IRGHd aEe (TVC) 2Rl 1
(A) FA AFT (TC) (B) A
(C) % dft @ (TFC) (D) ™ § Hiz Tl
When the level of output is zero, then total variable cost (TVC) is equal to :
(A) Total Cost (TC) (B) Zero
(C) Total Fixed Cost (TFC) (D) None of these
7. O SREIRET B ot J, w2 © 1
(A)  HHT o il (B) A TF & dwl
(©) (A) &R (B) A (D) & | #H T
Under perfect competition, firm is :
(A) Price taker (B) Price maker
(C) Both (A) and (B) (D) None of these
8. TR & <A A6 o T : 1
(A) = B WG FH BN © (B) OY-378 & GHMNIR Bl 8
(C) OX-3Te % I &l 8 (D) ™ § B -l

5611/(Set : C)/ i P.T.O.



9.

10.

11.

12.

(4) 5611/(Set

Under monopoly average revenue curve is :

(A) downward sloping (B) parallel to OY-axis
(C) parallel to OX-axis (D) None of these
Fretfoied & & HF-a1 TAfe =X 8 ?

(A) HET @ = (B) T a& & Hd

(C) ST YT (D) T o

Which of the following is a macro variable ?

(A) Elasticity of demand (B) Price of a commodity
(C) Consumer equilibrium (D) National income

A T & B TS 3T H

(A) STf® ST T S & (B) ST STAN T ST &
(C) @ AN & S & (D) S a9t

As a result of double counting national income is :

(A) over estimated (B) under estimated

(C) correctly estimated (D) All of the above
e § @ e oAfwm ST g | Qi 787 (A S ?

(A) Tl erfa| SUHNT 2™ (B) WX STF<TH ITHAN &4
(C) Fmor X 7 (D) T8 9§ Fig 7l

Which of the following is not included in final consumption expenditure ?
(A) Private final consumption expenditure

(B) Government final consumption expenditure

(C) Expenditure on construction

(D) None of these

et & & 91 @ st A A ¥ 2

A) fafma & mem (B) T &l TR

(C) (A) X (B) qFt (D) Hd N BT
What are the primary function of money in the following ?

(A) Medium of exchange (B) Unit of value

(C) Both (A) and (B) (D) Transfer of value

5611/(Set : C)/ Il
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13. 9RdE R §% (RBI) & €&oT e ad o g3 ?

(A) 1905 ¥ (B) 1920 ¥

(C) 1935 # (D) 1951 H

In which year the Reserve Bank of India (RBI) was established ?
(A) 1905 (B) 1920

(C) 1935 (D) 1951

14. AN AT § ST Bl aen 7 ¢
(A) M Fa e | B o (B) AW Hwge ¢ § &I ©
(C) (A) 3R (B) Al (D) SW F § Pig T

Disequilibrium in balance payments means :

(A) Surplus balance payments (B) Deficit balance of payments
(C) Both (A) and (B) (D) none of these
g 9=l @ R & 97 -

Fill in the blanks with appropriate words :

1

15. 59 %0 & o7 W Y 96 SR &, A T ooveevrnnnn Fed gl (I H R, gt 9 gfs) 1

Increase in quantity supplied due to rise in price is called ............. .

(extension of supply, increase of supply)

16. S HAG & G H FA BT .o g, 1 W S AfUF SRR el sl 1
(e, o)

Due to decrease in price total expenditure is .............. , the price elasticity of

demand is more than unitary. (increases, decreases)

17. T T8l 9% 99 g 0l AR ..., &I B (IR, eY) 1
An indifference curve is ............... to the origin. (concave, convex)

18. UREdASI AU H o .o ¥ AT BN B (ST, ) 1

Law of variable proportions is applicable in the period of ................ .

(short-run, long-run)
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19. 9, S, 9974 ofE X 76 T8 & &l ..o Fed 2l 1
(e P, IRec=sia @)

The expenditure on land, insurance, management etc. is called ............... .

(fixed cost, variable cost)

20. 999 TEERl B AW ..o, M (1929, 1936) 1
Year of World's Great Depression was ............... . (1929, 1936)
21. BEART .o A B (EEdiaRor, ardias) 1
Scholarship is ................ income. (Transfer, real)
22. FEH L. et 81 2 (et Roeh, ®Al AR S ) 1
................ included in money. (only coins, currency and bank deposits)

23, TE 6 = ............ {W‘T ST TS \w} 1

s ST "I ST

Credit multiplier = ................ [demand deposit _ cash deposit }

cash deposit " demand deposit

24. & & VTR & & AR ..oovvene, T HH ST B 1
(3Tget ISR e, ToF IR &)

According to Keynes theory of employment ................ is a normal situation.
(less than full employment, full employment)

25. FA TE - HA WA, SR & ARG = oo, | (o e, TS ) 1

Total expenditure — Total receipts, other than borrowings = ................ .

(Revenue deficit, Fiscal deficit)

26. P I B A G A oovvennnenn gl 1
(o, @ ol S=a @, = e SR G @)

Two basic accounts of balance payments are ................ .

(Current account and Saving account, Current account and Capital account)
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=it we @8t & ar T, Fsy -

State whether the following statements are true or false :

27. I T AN T AR TR B T TH-GER B M W BAT S B

The terms demand and wants are used interchangeably in economics.

28. 39 F AN JAER B B

Demand for milk is inelastic.

29. ARG = q9 U< Bl &, 4 FYO I H AR A B

Internal economies arise when the entire industry expands.

30. 39d T % 'U' ST &I &l 8l

Average cost curve is 'U' shaped.

31. Yo i & aqy wed enil 8l

Goods are homogeneous in perfect competition.

32. THHR] Ui & wEf & IENT & Ui 8 qer SN Siew & W=l [l ekl B

: C)

1

There is no free entry and exit of the firm in the industry under monopolistic

competition.

33. Tl W &9 T TAE &

Interest on capital is a flow variable.

34. JEEET UgH, TSHE ™ § M 2 2

Old age pension is included in national income.

35. a1 A & Hem % w9 B S ol

Money act as a medium of exchange.
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36. ¥ g9 FgRd (MPS) SR M SUHRT HgRT (MPC) %I dNT 8RS T8Il B 1

The sum of marginal propensity to save (MPS) and marginal propensity to

consume (MPC) is always one.

37. a1 H TH U FY ol 2 1

Service tax is not an indirect tax.

38. AW U, HUR Y { REgd gROT & 1
Balance of payment is a broader concept than balance of trade.

39. 9Rd #, R ¥ offe sfear e fes o0 fe &Td 2 1
In India, Reserve Bank of India issues the coins.

40. TEHA W IUE § TG A9 FAT BEGRT M Sl Bl 1

Gross domestic product includes capital gain and scholarships.

5611/(Set : C)/ Il
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of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
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Total questions in question paper of Part-I are 13 and of Part-II are 40.
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Please make sure that the printed pages in this question paper of Part-I are 7 in
number and it contains 13 questions.
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F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYFT 797 1 TG 37 & [@ B Grad F T & J9797 g 7 &l & GhET YU 59
T 7 g o qar w&hHe T8 A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

(i) T FeT ST &
(i) HEF FIT & 7% IGH QT 9T TT &

(iii) 597 G 1 @ 5 T% SH7-TgaITs 597 & 78 qe8% §97 2 Sf# # 81 JA% F
FIY T 30 =] G % TEl ET Mo

(iv) 997 GE 6 & 10 7% TgAUAE J97 & [r7d J9% 997 3 ol & 81 J9% % Fa¥
AT 60 9] @ 3 TE] &I e
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(v) 97 & 11 & 13 7% 5 Fovws 597 & o8 9% 797 5 S/# F 81 J9% &
FTY FET: 130 =] @ 9% TE & eyl

i) T FF FaEE FeA 4 ori® 82 YTy 81 94 g9 § @ ofvE B 0% & 797
T 81

(vii) T=-FHAT G, FAEEE T G T T T A TE 8

General Instructions :

() All questions are compulsory.
(i) Marks of each question are indicated against it.

(iii) Question Nos. 1 to S are very short answer type questions carrying 2 marks
each. Answer to these should normally not exceed 30 words each.

(iv) Question Nos. 6 to 10 are short answer type questions carrying 3 marks
each. Answer to these should normally not exceed 60 words each.

(v) Question Nos. 11 to 13 are long answer type questions carrying S marks
each. Answer to these should normally not exceed 130 words each.

(vi) Internal choice is available in all long answer type questions. You have to
attempt only one of the given choice.

(vii) Word limit is not applicable to formulae, numericals and diagrammatical

questions.
gue — A
SECTION - A
[ SHi-TgRIeT® 999 |
[ Very Short Answer Type Questions ]
1. ®H & Gge & A - 8§ 7 2

What are the equilibrium conditions of the firm ?
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2. BT A & & SaEXU Qi

Give two examples of Transfer Payment.

3. e & q F R B ?
What do you mean by Primary Sector ?

4. RS JHf & el g WafHs FE & TH SqE

State any two primary functions of Commercial Banks.

5. STUSE @ Nl HeT Grael gREmT i

State the material welfare definition of Economics ?

gug - §
SECTION - B

[ T 99 |

[ Short Answer Type Questions ]

6. ‘THIAHR' T Qo UfE@ifer § &8 a7 =< Tasu
State any three differences between 'Monopoly' and 'Perfect Competition'.

7. ‘Wl aEGA! TN ‘A aggell’ § =) TaEu

Differentiate between 'Intermediate Goods' and 'Final Goods'.

8. B % % PT 7 HY SAERY

State any three functions of Central Bank.

9. ‘YA AY TN ‘ANUR IV H =R B
Differentiate between 'Balance of Payments' and 'Balance of Trade'.

5611/(Set : D)/ |
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10. RU U SfHs! i Tl § F REX AFM qe ofed IRaceia AR & i

(5)

Se (3H=AT) | O

1

2

3

4

5

6

%A A (Bo) | 40

80

110

126

128

135

180

5611/(Set : D)

Calculate Total Fixed Cost and Average Variable Cost with the help of given

data :
Production (Units) 0 1 2 3 4 S 6
Total Cost (Rs.) 40 80 110 126 128 135 180
gls - 9
SECTION-C

[ Long Answer Type Questions ]

11. QO SRERar & oreueren Refd & &H & dwgem & A [ ary e #7X

[ & TS 97 |

5

Discuss short-run equilibrium of the firm in perfect competition by marginal

approach.

Explain in brief, the 'Law of Supply' with the help of a diagram.

e
OR
G & gerEd @ Yfd & MEw @ ey | e w1

12. T A H A0 B @F QR B R S

Explain the 'Expenditure Method' of measuring National Income.

5611/(Set : D)/ |
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et RSt &l T | SO HiFd W ‘Y& TS IAE F1d &

i o g 4
(i) T &5 H Qe A W IS T I 60,000
(i) fadees &= e aFd W 98 09 915 40,000
(i) | JEH & § T A W IS T g5 30,000
(iv) | & ST & 20,000
(v) faesl | U S qET e (-) 5,000
(vi) | Rer ol SusrT Sreran frmEae 10,000

Calculate Net National Product at market price with the help of the following

data :

Items

Rs. Crores

(i)

(i)

(i)
v)

(vi)

Net value added at factor cost

primary sector

Net value added at factor cost

secondary sector

Net value added at factor cost

tertiary sector

Net indirect tax

Net factor income from abroad

Consumption of fixed
depreciation

capital

or

60,000

40,000

30,000
20,000

(-) 5,000

10,000

5611/(Set : D)/ |



(7) 5611/(Set : D)

13. O P B A H A B SAAD [ty P A S 5
Explain the proportionate method of measuring price elasticity of demand.
AYAT
OR

T SUHHRT T a6 H 50 THEAN 4 T T TR WIS 51 O 39 9% B HAA 25%
R S &, o g9l |17 100 39 & SR &1 AT & Hed A S Bl

A consumer buys 50 units of a good at Rs. 4 per unit. When its price falls by

25%, its demand rises to 100 units. Find out the price elasticity of demand.
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o PV AT BT G % FT FIT-0H § JRT §T 8 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o U F97 F FAT &7 @ g7 I8 GARGT Y A [ F9797 [U T 7el 8, YT F YU 39
T 7 g o qrar w&hH T8 BAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :

() @4 geT et &

All questions are compulsory.
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(i) 97 #E 1 7 40 TF FegITe (JgREAT RFT @7 3 gt/ 7e1-TAq) Fo7 81 T9%
JoT 1 5% T &1 @8 FTY ST FAv-GreawT 7 [

Questions from 1 to 40 are objective (Multiple choice/fill in the blanks/true-
false) type questions. Each question is of 1 mark. Write correct answer in
your answer-book.

i gty gedt @ ae T g -
Choose the correct alternatives of the following multiple choice type questions :

1. fafed & @ -8 =R @fte STeisTe & 3T 8 7 1
(A) TS I (B) ®H & SdEd
(C) *Md &R (D) ™ q Hiz Tl
Which of the following is an example of micro-economic variable ?
(A) National income (B) Firm's production
(C) Price level (D) None of these

2. FHR T IS H A FBAA © 1
A) T (B) &AM
©) TR (D) A
Demand of car and petrol is called :
(A) Complementary (B) Substitution
(C) Unit (D) Zero

3. 9 A # Hfe GREdd HiFa ¥ gfek aRes § ofte e 8, ar A 1
(A) SEER R (B) @R 2rf
(C) oI St il (D) 13 A=
When percentage change in demand is more than percentage change in price,
demand is :
(A) inelastic (B) elastic
(C) perfectly inelastic (D) wunitary elastic

5611/(Set : D)/ Il
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4. TR 9 Gl (g X B © ¢ 1
(A) X (B) @ Y@
(C) STIEX (D) = & B T
Indifference curve is to the origin :
(A) Concave (B) Straight line
(C) Convex (D) None of these
5. <9 UM IARA g B 8, O A Iedred BT 1
A) LA (B) A
(C) &IcTh (D) atferhe™
When marginal production is zero, then total production will be :
(A) Zero (B) Negative
(C) Positive (D) Maximum
6. &I FHIHT YT 1
(A) TR= AR B) AR= MR
Q Q
ATR
(®) MR—E (D) AR=TRxQ
Choose the right/correct equation :
) TR=2F B) ArR=ME
Q Q
ATR
(@) MR_E (D) AR=TRxQ
7. O SR § & S @ Refd B 8, o 1
(A) MC = MR (B) MC=TR
(C) MC-=TC (D) AC=AR

Under condition of perfect competition the firm is in equilibrium, when :
(A) MC = MR (B) MC=TR
(C) MC=TC (D) AC=AR

5611/(Set : D)/ I P.T.0O.
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8. g 9% 2 © :
(A) EE AR A B AT FH GIAT (B) OX-3& & AR
(C) & AR FW & T FH gal (D) OY-31& & HHMIX
Supply curve is :
(A) slopes downward to the right (B) parallel to OX-axis
(C) slopes upward to the right (D) parallel to OY-axis
9. = & § HiN-a1 gufe T 78 & ?
(A) T A (B) U o
(C) U T (D) YR Tfer™l
Which of the following is not a macroeconomic factor ?
(A) Aggregate demand (B) National income
(C) Trade cycles (D) Consumer equilibrium
10. f=afed & @ H=-d1 [y Ty o &t 7w # 7@ 2 7
A) o fafy (B) STEG-farq fafy
(C) =g fafy (D) IdE fafy

Which of the following is not a method of calculating national income ?

(A) Income method (B) Import-Export method
(C) Expenditure method (D) Product method
11. & %l foamem fhesw g s & ?
A) TP eredeaeen &t (B) orfeawe WX Gl I @
(C) T eegae &l (D) SR a4t

The Keynesian school of thought advocates :
(A) Mixed economy

(B) Government control on economy

(C) Free economy

(D) All of the above
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12. R G ITERT Jga (MPC) = 1 8, @ o6 8N 1
(A) TH (B) %
(C) o= (D) &
If MPC = 1, multiplier will be :
(A) Zero (B) One
(C) Infinity (D) Two
13. Waeid &Y H BT BT © 1
(A) & H ghs (B) T & TN Sed
(C) TIFHE YA W Hfa=o (D) ETH § Hig 7ol

The objective of progressive taxation is :
(A) Addition to taxes

(B) Equitable distribution of sacrifice
(C) Restriction on harmful consumption
(D) None of these

14. @R 99 2 1
(A) TEST & T IR FRfd & R (B) &arel & oM iR FRfd # o
(C) Uit & o iR Frafa & o (D) ™ § B -
Balance of trade is :
(A) Difference between import and export of goods
(B) Difference between import and export of service
(C) Difference between import and export of capital
(D) None of these

3T g=1 @ R &7 &% -

Fill in the blanks with appropriate words :

15. T T BF ............. TG & TaTe &l (70, ®=Fe=)

(complementary, substitute)
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16.

17.

18.

19.

20.

21.

22.

23.

(6) 5611/(Set : D)

Fd # UREE B WX A %y @ A aRaes A1 &, @ JT B Fd ol 1
(qoferan AR, el SdEER)

With change in price if demand for a commodity does not change, demand is
said to be .............. (perfectly elastic, perfectly inelastic)

............... Fad e o & A B el (qree & gfcee, TN & i) 1

............... is applicable only in long period.

(Returns to a factor, Returns to scale)

foEpa AT o iR & o Aoyt 2 (wepifeeprdy, qof) 1

Selling cost are more important in ................ market.

(monopolistic competition, perfect competition)

qufte Srfame oo referaee ¥ T B (et &w=er) 1

Macroeconomics is concerned with ............... economy.

(an individual, the entire)

ISR AT T el BLq Scd& (GDP) = 5 B FUE + oo, 1

GDP at market price = NDP at market price + ............... .

(Indirect taxes, Depreciation)

T B A, JET B oo w4 B (serften, facia®) 1
Measure of value is the ................ function of money. (primary, secondary)
ARG 7 0% TR B AC o FEARUS U ER IS (Rerd @, &= TR) 1

One rupee note in India is issued by ................ .

(Reserve Bank, Central Government)

5 AS > AD ©, ieferadn § awgett ok daret Hi qit S AT L1 (R

(sfers, @)
When AS > AD, then supply of goods and services in the economy tends to be
................ than their demand. (more, less)
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24.

25.

26.

(7) 5611/(Set : D)

g MPC = 0.8 %, @ T BRT ..ovrnenen. | (5, 4) 1
If MPC = 0.8, the value of multiplier will be ................ . (5, 4)
T% HX P HUEM AN PG T & SR TG, @ S oo, P HEA ol 1

(Sreren,  oToTcen)
A tax whose impact and incidence fall on the same person
is called ................ tax. (direct, indirect)
o Frafd 9w @ ST ged &5 BT 8, O SR A BT (ST, o) 1
When value of imports is less than value of exports, the balance of trade will
be .............. . (favourable, unfavourable)

ey #e @8t & ar T, JasT

State whether the following statements are true or false :

27.

28.

29.

30.

31.

32.

A 1 AEE 8, Tg 98 A §P srEwnel § any el g 1
Law of demand is universal, however, it does not apply in some cases.

IoTC @1 H FH IqE @ A Fed B 1
Budget line is also known as iso-product line.

it qen Wi & FE IRax TE B B 1

There is no difference between supply and stock.

ANGd T g 91T a1 el gl 1

Average revenue curve is also known as demand curve.

R awgett & faftm SwaRT 8 8, St A1 &t A e Bk B 1

Elasticity of demand of goods having different uses is elastic.

e A WX GDP = 918 @Fd WX NDP - BdEe &9 1

GDP at factor cost = NDP at factor cost — depreciation.
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33.

34.

35.

36.

37.

38.

39.

40.

(8) 5611/(Set : D)
T § Fad B e i B S 2 1

Money consists of currency notes only.

TAREE] IR e & AR S9d o9 & 6 ol 1

As per classical theory of employment, saving is a function of income.

%ol BT O, A o6 & AH G S ST B 1

Keynes multiplier is known as investment multiplier.

PR TF ANEE A Ta 8l 1

Tax is not a compulsory payment.

MR Y T PR A9 F AR G0 SO ol 1

There is difference between balance of trade and balance of payments.

T Gl FdIqe § : AD=C+ 1+ G+ (X-M) 1
In an open economy : AD=C+1+G + (X-M)
SOl TR & U foai 9y @l arafas Wiadl o) @t & e Bl 1

Budget is a statement of government's actual receipts and expenditure in a

financial year.

Yol o B AT o # i 78 e S R 1

Capital gain is not included in national income.
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